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Plot [['EcFgro', 'EcFzExp', 'EcPltng', 'ECdef’, '‘water_ec']]
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Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10_E (-10.6%/D, -7.4%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10 E1 (-11.7%/D, -8.2%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M20_E (-10.2%/D, -7.2%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M20 _E1 (-6.0%/D, -4.2%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30_E (-7.3%/D, -5.2%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30 _E1 (-2.4%/D, -1.7%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M_E (-3.8%/D, -2.7%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M_E
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Fdu, duBegFit, and duBeg moving average
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FduBeg (Estimated from BetaSs fit)
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Fdu (Estimated from BetaS fit
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fvPerM Estimated for each M sensor by fit BetaS

8000 -

6000 A

4000 A

2000 -

M10_E1 fvPerM
M_E fvPerM
M20_E_fvPerM
M30_E1_fvPerM
M30_E_fvPerM
M20_E1_fvPerM
M10_E_fvPerM

p——p .

/
Y AN
’ I\
/ I
7 1
/ 1 ]
/ ll
RN // /
e ~ / y
= v~ /’ \\ /
’—_— —~ \\\ 7 ~ /
— - Ssa Ty - ~ / l,—— ————————
D T T eyl lulagls
T T I I 7
30 40 >0 °0

70




2000
1500 -
1000 -
5004 o~
—O0—0—0~
® MI10_E fvPerM
—— M10_E_fvPerMma
o T T T T
30 40 50 60 70
d
8000 - o o
6000
4000 A
2000 A
® M30_E_fvPerM
—— M30_E_fvPerMma
o T T T T
30 40 50 60 70

fvPerM moving average

P 1200 A ®
1200 - ®
e | 1000 - «
1000 -
800 1 °
800 ° o S ®
600 - o
600
400 - ° N 400 A
o
2004 @ M10 _E1 fvPerM hd 2004+ ® M20_E_fvPerM
—— M10_E1_fvPerMma ¢ —— M20_E_fvPerMma
0 T T T T 0 T T T T
30 40 50 60 70 30 40 50 60 70
d d
3000 A ®
6000
2500 A
5000 A
2000 A
4000 A
1500 - 3000 4 \
1000 - 2000 A ®
5004 ® M30_El fvPerM 1000 - ® M _E fvPerM
—— M30_E1_fvPerMma ¢ —— M_E_fvPerMma °
0 T T T T T T O T T = T T T T
67.0 67.2 67.4 67.6 67.8 68.0 20 30 40 50 60 70
d d

5000 A

4000 A

3000 -

2000 -

1000 A

® M20_E1l fvPerM
—— M20_E1_fvPerMma

30 40 50
d

60

70

1.0

0.8 A

0.6 1

0.4 4

0.2 A

0.0

0.0

0.2 0.4

0.6

0.8

1.0



Plot ['FR', 'soilSetVI']
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M10_E ETcldef vs estFv
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M10 _E1 ETcldef vs estFv

ETcldef vs fvPerD_M10_E1: a=0.94, b=45.86, r=0.64
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M20_E ETcldef vs estFv
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M20_E1 ETcldef vs estFv
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fvPerD_M30 E

M30_E ETcldef vs estFv

ETcldef vs fvPerD_M30_E: a=3.4, b=-769.6, r=0.72
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Fg Tr|gger Score (by Et and sensor)
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Plot liquid fertilizer usage
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Plot solid fertilizer usage
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T =»- ] X - - | |

%~ fzStockBov %’& )S%S‘ ¥- cumStockBov 3000 - 1 400 A !

1 200 : : :

1 2500 1 o 1 |

1 f 1 300 A i

' 2000 A » : :

100 + .‘ 1 1

209069 e =>¢=X=X | 1500 - : expECS 200 A :

I I
0 1000 4 ® : fzStockECS 100 4

0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 25 50 75 100 125 150 175 25 50 75 100 125 150 175
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

2000
| ] ‘ | ] | ]
5000 4 ~® Kg_hN_L 1250 1 —e— kg hN L | —e— kg hP205 L 5000 4. —® kg_hK20_L
kg_hP205_L —X- kg_hNov_L} =»%- kg_hP2050v_L =»%- kg_hK20ov_L
4000 1 —&— kg_hk20_L 1000 - : 15007 i 4000 - '
1 1
1 750 i
3000 - ! ! 1000 - 3000 -
1 1
i 500 - - i
2000 ] ! =X | 2000 = X=X
1 500
1000 - /""—H 250 - e 1000 -
1
0 4 i 0 4 M 0 4 30043385888 0 - OO -
0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

6000 1400 : 6000 :
—e— kg _hN_S —e— kg hN S 5000 | —® kg_hP205_S —e— kg _hK20 S
5000 - kg _hP205_S 1200 1 _%- kg hNov_S -%- kg_hP2050v S 5000 1 -%- kg_hK20ov_S
—8— kg hK20 S 1000 |
4000 ' 1500 - 4000 - i
I 800 - I
- 1 - 1
3000 | 500 1000 3000 |
4 1 J 1 (= H==X
2000 : 400 c00 2000 : *
X > =X .
1000 - /"""" 500 % 1000 -
O T 1 O T O T O T 1
0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175



